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p17- which af thie follywing = a dipy - 4..:__1 4. Al |
\ aiaCl = gl |
3 M F = ! 1
3 , b L ~u | |
ML The Jefimition uruudu:mn is the — 4 gain of protons |
 plectrons v AN ol ;'.:-C'J'.\I'I.'- o= JOEE al i'un‘Ln:'-:'r- i
e jl_l-\.'\-\. ol s bk i 4

it g _ - jent g IS _—
19 When the follo™ ing equation 18 patanced; th¢ coefle

—

. .
.
CHo* 3 010 ™" 00, ot 2 H0®
b 5 o 1 ﬂ’ 2 \
I}Iﬂ'.f\; kich of the following is considered 3 sirong r‘icttnﬂylt‘? | | .1
/4 NaCl solution b sugar sclubion c- poetic acid 4- NaCl solid I'.I
.
p21- Which of the follow ing has the h_ighfust hu]]d Ieugti? -1I
I o b N—MN .. N=N d- N—N -H
2 : |
p22- The type of chemical pond between

metal and metal 18 i et
§- IONEC hand b~ covalent homd c- ﬂﬂfﬂilﬂuﬂ]i:! honding

E“ﬂ-_fﬁ'lcmﬂic ponding
p23- What is the

Lewis structure of water molecule?

H O H

H—-O—H 0D o

()

. {.- [ ] [ d_ W =
D24- Which of the following is the most electronegative clement?
fa) fluorine b- carbon ¢- nitrogen d- iodine
D25- An acid reacts with a hase to form —
f a- waler * sall

b- a precipiiate c-a gas

Good Luck

d- waler + gEas




(Choose and mark the correct answer in the Answer Sheet)

A1- Which of the following is a precipitate?

a- Kliag b- Pbl=(s) " c-Hay, b NG,
A2- Which of the following is a polar covalent bond?
a- Na b- Cl: c- NaCl E_H(I
A3- Ina neutralization reaction, an acid vsually reacts with ——————
a-a gas b- a base c- 2 precipitzie - —

T :__ =
+ Fe' (ugy— 20" (pe* Fuuts ———.

4- The following reaction: Zng, |
oxidation-reduction reaction b- acid-base reaction  ¢- procpaion fmETEE O IENE
a- o

A

AS- The following equation: H (ag) + OH (ag) — H-Ol) ts —————— eg=ztoe.

JOmac &-nome
a- molecular b- spectator ¢- met 30T
= = e
which of the following aqueouns solutions cz2n condect df:::: .
AP 2. (CH:kO b CoHizO: c% d 2o
= Li) - Wy 2 Ll '\'H kil iS ¥
:dation stateof " N in " NHs B
ALTI:: t:flwﬂ b-(=3) c-(=1) & i-3)
A8- Which of the following is the least electronegztive element”
a- carbon b- nitrogen ¢ s & ol

A9- Ammonia (NHs) can be synthesized by the resction:

2NO(g) + 5 H:(g) — 2 NHi(2) = 2 H-0(2)
"~ Starting with 863 g NO and 25.6 g H-. find the Fimitins resceast?

a- H: b NH; c-ND & B0
e )
A10- To what volume should vou dilute 02 L of 15.0 M KI sslzSon to obzsiz 30

~_ 1 0ol 3-01lmi

- 10L b-100L < l,.ﬁ

All- Which of the following bonds have the lezst bond Jengta?
a- CI-C1 b- Br-Br c-F-F g H

esmsEy,

Al2- Which of the following has the hizhest bond eperm”
, N=O = N—N . N=N » N=N




/

RES Give the name of PhQl,.

a- lead 1\‘] -Chi:ﬂ"l'"idf

A

b lead (VT) bl
(VT ehlonde c- bead (1V) chlanide - Teacd (1) chioeiche

A14- Give the name of NI, e

a- nitrogen tiiadide :
b- mmomTogen iodide  ¢- nicked tiodide  &- nome

A15- Find molecular formula for "C.H
a- CHO ‘

30" which has a molar mass of $6.09 2'mol?
b CHO, c- C.HO, 4- C:HO

AlG- \\'I'I:’l.'ﬂ the fnllm\ il‘lg t-q“:tinn s h:lll!ﬂ.‘d: the coeflicient ™2™ 18 ————..
c“-‘lti *2 nh:' — CO, w T A H:0 .,
a-2 b R

& b E‘-.-I d"""

Al7- The name of Cr:0-*ion is
a- chromium

d- &achroente

S ——

b chromes c- chromate

AlS8- Give the chemical formula for ammonium nitrate.
a- NH.NO, b ALNO, o NHLNO: d- AINO:

Al9- What is the name of H1 vty

. - Arpherermye 3533
a- hvdrochloric acid b hyvdroiodic acd o- hydroflouric acid & hySrehememe 259

A20- Which of the following is an atomic element?
a- H:O0 b F: c- KNO, é- Nz

nn! oxygen s

A21- The formula for the compound that forms between calcium

a- NaO0 b Ca0 c- C20n d- C=0
A22- What is the empirical formula for CCL?
d_- E.‘n

a- C:Clg b CCl AL

A23- Calculate the mass percent composition of Clin CCLF..
% b-12.22% c-60.05% d- 1864 %

a- 3864 .
A24- What is the percent yield of the product if the actual yield was 2.65gan

theoretical yield was 455 g7

a-6742% b- 57.17% c- 58.24% d-30.12%

T X
A25-What is the molarity (mol/L) of 2.0 mol NaOH in 2.0 L H.O7
a- 0.08 mol'L b-1.0mollL c-0.10 mol'L g- 0.0 moll

Good Luck
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mark the correct answer in the

i Lol
__31- How many grams of HC1 reguired to 'Jr”u" ’ J-444 g

o B
It.il"'F b- 365 B

D2- Give the chemical formula for lithinm dichromate.

- L _11";-‘. X

8- Bally b- LiyCr:0H c- HizCralh

3
.

_ v S0,);:
!.)‘;- Calculate the mass percent composition of sulfur (5 ) AL(ST ]

4. 129
A 5 2807 % i b-42.22 % c- 50.03 % d-8%. =
r: Fx : 1

what is the final

D4- If 0.1 L of 0.25 M NaOH is diluted to 0.3 L,

concentration of diluted .-m-luliun'.'p _ = vgan: ¥ ||
. s o 1 4- 0073 M '

I II-..al--: (.083 M h- 00538 Y=t - 0,063 M '| .
| DS- What is the empirical formula for C,H ;0.7 ' -
| - e . [
4 a- CyHeO, b- CH:0 e CHyO d- CHO II
| | € Ha C - ; 65 g and |
Dé- What is the percent yield of the pruduci if the actual yield was 6.65 8 '||
( , the theoretical yield was 8.55 g7 .
' a- 97.42% b-87.17% ¢ .<F (0 77.78% de SESR Ill
] | = . -\‘.__:
' |I . : o &L ‘o
D7- Give the name for FeSO,. i >
' @ irom (1) sulfate b- iron (111} sulfate ¢- iron thiosulfate @im“ (11) sulfide

D8- Determine the name of HF ..
f a- hydrochloric acid b- hydroiodic acid . c}l—nydmﬂnuﬁc acid  d- hydrobromic acid

| D9- Determine the reducing agent m the fulluwmg reaction.
Zng, + Fe"' (sq) —" Zn®' v + FE{-J

2 R Fe,, b- Fe'? @Enm d- FeCla

D10- The following reaction is a
|I 2 Klg.q] + Fh{”ﬂ;h{m m— Phh[ﬂ + 2 KN“H“I}

/]
| {_/a"— precipitation reaction  b- acid-base reaction c¢- oxidation-reduction reaction d- none

\
’I D11- Which of the following is a molecular element?
,I a- Xe @ I - NaNO; d- H,O

D12- Which of the following is an ionic compound?

f _
|' a- NO; b-Na' c- Sq ic'.
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